TBRA 2411 ke. B y H Noy., 29019 Rt o \SLS’\

)

1. RQFS\-LT-\—TM Z P rableunss
2. lwmpls cvy &%\MMHQ%\G"\
3. The second desiusfiuR aud curatur

———

{. Rep- * probliuns,
. — e

Ste i ona ’EU“\\A:\‘5 Anw x-value C such Past
Cewiical(Jpt= D |
f'¢tey = ©
’Threz?oeei\oﬂi‘ﬁv) :
/ T S SN SR
B 41:: X c » C
e, waa X, P'\'- lac. M;,,‘_‘;(’_ e wace PJ(

ot WG w wov WA

We use e ST quj. toe £100N

to dotecutvwe e LSy s

stc ‘r\,‘.& Twc»e_wm\usa C £ > o))
= d,q_c,.w\,\%r ( £f <o)

- 3
and Py adse e r > Tt *3"‘“’4 -

Poblews Hg  fi(x) = € —HR +3 . Wham

L) ohmct T\/\cmm\%/ decrean T We use
3\ ?T%V\ Ao, 06» ’Fl(K). B Lt vwwre Wowul
o /&«CHC),(_ IF'(KB —(;-‘r%'\‘ . 'Pu"\" u = QK
ey wr = e e = e o e it

L/\Z'FL"V\’\"S ::(u——l}(u—ﬁ) 30

£y = (e"=D(e"-3) )



o i (3)

V%

?CK\ - . J1 — ?V\C,Ma)ﬁ\ka —_ | —_— [[N\[’S\) '—P->

—l—’l'_h;(’@('\'\-QWLQ vwallug the 61-(_\/\/\)1
I ke dowaiw ol QXL{—’RAIFW 1s « doscel judarved

[Q N \o__\ th<ewn 4(&\ W2ees  a ca‘ohak) WX |

Tt el

R A (? [0!9) A on tle

The \>Os$:\\9? g S-B N

@D 5\'&'\:\\0—\&&% ?"\‘5
) CurnpsS

(,,x_) EuwcA F+‘S .

x\?’

—

To T AU wox - awst Tt Wk,
< Cw?u'\f{ +h o j—-\rcdzud-J) &-ﬁ- ‘\Whoze
x— veluars - by LoD .

\»Q\Asu:r(

=)



(pro\o, s & f?('xﬁ -_—\M(\—\—e"") \ D_F""[L{\S]
woald Lue Ao &)\MOQ MO At

5*“%%&!5 PrS 1 Sowe Aue =q. f1exd =6
To F\A_o/\ Dy we  unx A o Aot R Ywice.

Put u = 1+e L Gt gu) = n(u)
chaiu r. wil ! = Iy
Sweall <\ u=-x 9w\l = T
uierue et @ ) = y
u ! ’ u 5 ~
Ced <. -x). - ), = ~l-e =-¢€
' =¥ - X
Then W (X) = O —c< = - Cis
clhmiwn _e_
e = A . — ’-X) = T
Thew S} ) 7 ( £ \+ﬁ&

whacW TS \zuz%ov\—-\\u-e -?cv-f IR Z_

Thwere. Gare WMo > P> C‘@'Cx) d—lg\\uc)«

%.r‘a&()\&

N D = 6. o008%2

Q.0131S

O .006F2




¥rob. 3¢ Easter o dederwaue wlbalt wvouj\.
Sppose. ‘F(XB TS Ne Qreaun owL  thewy

the UtTellt owae —&:‘ (=Y . Bot N
5(0\> d-\ BTy ﬁ""ee"‘ s - T wQ?A\-TD*Q @f X33

s & \
s W le Al U‘TO\.O.JK' oL WS 5\‘3?“\"«9\4 .

e £y TS A wolet ovwe

l -
K e — — X
L O i
= -2 \
,{,‘(KB _—=(_,). X = — X = —:2

us ual c\j—g% ere ot .

——~

! )
Iwel-ﬂeoxcl‘-?u'\* \3':—@(&})90 S—X lx

W 3&‘( o)-" = |
W i‘\‘%{-{rﬁu&?q%—a cocl, AL w.e T,
PRV G V-V Ve @-8 5/ arn '?‘—w\ CciR=o o A

<

ij>; o (‘);
Producd vl g
X) Y T x(y), = ©
/ = O

1-3.4-)(-3

W Coun ol s Q%uqsn\c‘\/) (e—r jl -

(4)



n

] i = |
J X (' x _;1)
The poiul is Yua® we Lou'ty haoe do Luow

AU ex RIS T g&r S(KV

Thiais s ca et '\\MP\A\QK* C:L\g&QMM'\:\_G‘\‘lB\f\

We coan ac:"—u\o\(\\a/ urne HDAas o 'S‘l\\«OQ S\OPQ».

N x = 2 Mo 2-3

—:'-l L o

E-%- \ N
J = 2
—L 1
} B 2. e =
At L:)\x-zz 2. 4
g =3 a
We coum unce duxs 3slo R %“d&
h ()

point-stope E;(\M uley

(2, 5) P8
— ,
<) = 3 ':'“"11" (’(”2>)’°\“{K\:_GX+I
/J .

ngiij&&hwj

s
____Xg:l

L—-
=

X

(5)



Problowa

A curue TS ';\MFL\\C*\é dega"wcﬂ b%
2 > —
s Guaton y* - x \

a) EBxprenrd j/ b& K ok (3' W\K}

Foaplierd QL\\'H-QFQMFQ{-TO‘V\ (Hhaul of
Y ars  a f—v\\«c\—?o“ o <D

b)Y Twk all selitions fov 4 ol ¥ = 2
<) CO'V"\?M-\—Q j' -Fo—f‘ A\ene 'FO'T\/C\TS _

Sel e 7 2 Y
el SN _ L‘)j { Clhoar v rulg:
a) (3 >;« . <7< >,< n K {_?‘ u =y
2 (g = u
' o O L
zj\j —~ 3X If | —3,
' . 2 | % X
o 20 We «Fa« B 2y y = 3K ( 'y
52 9 (u) =
i 2K _
8 - Zj K‘ —,\ié
b) X =2 Solue 32' — 25 = | §-::~/‘ (a,_
] - £53
J .
) (2,3): y' = TZo= -2
) 2 (-2 _—
(2) 3) j‘ pemd 3 22 — 2.
2- 3 =



2. The $econd grcdtur dadueadioe Gud curvaturr

v Wiluech divecltsoun doey Juae 6*“&?‘/\ eswief 7

bancdbing ue F_b,ovmob‘mﬁa Aocuon
L -
Y e graphs o

Mme «jmf\f\é O-‘—

_ C oy O —g‘-«wc\'\‘c’ms
C v VX 'F*AV\C"nO\qS

AN 3‘%"‘)
fd’fw’t
— .
e y
ff-(x\ s ConveX «Rx) Ts con(Cowe
j?gg-?u.;"ﬂ'—dv\? ‘F(X) 7S Cohn VR X (OY' Co-v\CauJ-Q>
e Gwbecved [ay b1 5§
_[."(x) >0 1}9( all x ™M Lo o>
Lay, b 3

¢ e %“(K} <6 {ar Al x Tw

e mewes € 35 o wmflec o poiut if
fUey  choamger> >Tgn at X = C.



Secomn & dgﬁ\mg;\m Yesst (p 253

.S/\A?Foi& x=a_ 15 «a statiova ré Foﬂ\\«&
qﬂw Loy . Ve £'aYy >0 Hoew x==x
S a local wmAusuauwa ?mv\‘h

CoOwVoRX = g(")

%

l": ’9”(6\\ < O “"\/\_Q.\/\_ W = & 75 a ‘@CQ/Q

WAL A A L VA TM X

4’"(&) < O
con cav

/\

-
X

e §0) = k% - 6x .
ShaiT ey poswils Sotutious o SX =bx =0
Jead s C 3x(x- ) = e x=O or K=2
We use due sec. dat dent:

Sty = [F0O0]) = [aeex] "= x-t

:¢—6<0 so Xx=0 loC.
Jusert : F“(O>—6O G MqXF+

£z = ¢-2-6= 6 >0 30 x=2 e e wiy

P




'COVN}Q)( optwa e oM

l{-\' ‘S:(x) TS comuLelx .,Q,\»u%w\r\ﬁxe/ T H‘B
e aw% e—{-ck-\—\\cruawa. PO'TVC'V
?Oi“vc&“-

T ke a o \O bal WmAvamiaw

w
ﬁ“"‘d\ V{‘X‘()(\ TS concavl -Q»U'Q-"a‘*)\"m : %kﬁ“"mx
Pt

{ixy = bx-2
s X = jé 5o e d‘u\% 9%QW‘J ?OW‘\
"y = 6 >0 -ew foy 75



